julia> A=randn(4,4)

4x4 Matrix{Float64}:
-0.316503 -0.0893162 -0.205544 0.927764
0.496956 -0.51921 1.00072 -0.31696
-0.92511 1.39363 -0.722981 -1.01798

-0.72828 -0.438684 -0.0222849 2.26917

julia> A=round. (A*20)

4x4 Matrix{Float64}:
-6.0 -2.0 -4.0 19.0
10.0 -10.0 20.0 -6.0
-19.0 28.0 -14.0 -20.0
-15.0 ) -0.0 45.0

J julia> 2+10+28+9
l 1346 £30 445 © 40 49

B ¥z0 ¥ \&5| =99 julia> 4+20+14

julia> 6+10+19+15
50

2+0 r29+9 = 49
D +1Y+15 =50 ;;11a> 19+6+20+45

mn
LA = ma) 7 LAG) - §= b | = maz §%, 4,99, 0% 2 %
=

julia> using LinearAlgebra

julia> opnorm(A,1l)
90.0

Yoy N/”paw’r by Mo Eudidiom wodor narm .- -

julia> opnorm(A,2)
I A "a: 57.15499779151479 =~ MAX i ”Am”al (Ix}]&: {E '

julia> opnorm(A)
57.15499779151479
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